

A note on Daehee numbers arising from differential equations

Hyuck In Kwon

*Department of Mathematics,
Kwangwoon University,
Seoul 139-701, Republic of Korea.*

Taekyun Kim

*Department of Mathematics,
Kwangwoon University,
Seoul 139-701, Republic of Korea.*

Jong Jin Seo¹

*Department of Applied Mathematics,
Pukyong National University,
Busan, Republic of Korea.*

Abstract

In this paper, we study some differential equations arising from the generating function of Daehee numbers and we investigate some new explicit identities of Daehee numbers.

AMS subject classification: 11B68, 11S80.

Keywords: Daehee numbers Differential equations.

¹Corresponding author.

1. Introduction

As is known, the Bernoulli polynomials are defined by the generating function to be

$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (\text{see [1-10]}). \quad (1.1)$$

When $x = 0$, $B_n = B_n(0)$ are called the Bernoulli numbers.

In [4], Daehee polynomials are defined by the generating function to be

$$\frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}, \quad (\text{see [2-6]}). \quad (1.2)$$

When $x = 0$, $D_n = D_n(0)$ are called Daehee numbers.

For $r \in \mathbb{N}$, the higher-order Daehee numbers are given by the generating function to be

$$\left(\frac{\log(1+t)}{t} \right)^r = \sum_{n=0}^{\infty} D_n^{(r)} \frac{t^n}{n!}, \quad (\text{see [4, 5]}). \quad (1.3)$$

By (1.1), we easily get

$$\begin{aligned} \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!} &= \sum_{m=0}^{\infty} B_m(x) \frac{1}{m!} (\log(1+t))^m \\ &= \sum_{m=0}^{\infty} B_m(x) \sum_{n=m}^{\infty} S_1(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n B_m(x) S_1(n, m) \right) \frac{t^n}{n!}, \end{aligned} \quad (1.4)$$

where $S_1(n, m)$ is the Stirling number of the first kind.

From (1.4), we note that

$$D_n(x) = \sum_{m=0}^n B_m(x) S_1(n, m) \quad (n \geq 0).$$

Recently, Kim and Kim introduced nonlinear Changhee differential equations which are derived from the generating function of Changhee numbers and they gave some interesting identities between Changhee numbers and Euler numbers. In this paper, we study differential equations which are derived from the generating function of Daehee numbers and we give some new explicit identities of Daehee numbers.

2. Daehee numbers associated with differential equations

Let

$$F = F(t) = \log(1 + t) \tag{2.5}$$

Then, by (2.5), we get

$$F^{(1)} = \frac{dF(t)}{dt} = \frac{1}{1+t} = e^{-\log(1+t)} = e^{-F}, \tag{2.6}$$

$$F^{(2)} = (-1)e^{-F} F^{(1)} = (-1)e^{-2F} \tag{2.7}$$

$$F^{(3)} = (-1)^2 2! e^{-2F} F^{(1)} = (-1)^2 2! e^{-3F} \tag{2.8}$$

and

$$F^{(4)} = (-1)^3 3! e^{-4F}. \tag{2.9}$$

Continuing this process, we have

$$\begin{aligned} F^{(N)} &= \left(\frac{d}{dt}\right)^N F(t) = (-1)^{N-1} (N-1)! e^{-NF} \\ &= (-1)^{N-1} (N-1)! \sum_{n=0}^{\infty} (-1)^n N^n \frac{1}{n!} F^n \end{aligned} \tag{2.10}$$

Now, we observe that

$$\begin{aligned} \sum_{n=0}^{\infty} (-1)^n N^n \frac{1}{n!} F^n &= \sum_{n=0}^{\infty} (-1)^n N^n \sum_{m=n}^{\infty} S_1(m, n) \frac{t^m}{m!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n (-1)^n N^n S_1(m, n) \right) \frac{t^m}{m!}, \end{aligned} \tag{2.11}$$

and

$$\begin{aligned} F^{(N)} &= \left(\frac{d}{dt}\right)^N (\log(1+t)) = \left(\frac{d}{dt}\right)^N \left(\frac{\log(1+t)}{t} \cdot t\right) \\ &= \left(\frac{d}{dt}\right)^N \left(\sum_{m=0}^{\infty} D_m \frac{t^{m+1}}{m!}\right) \\ &= \left(\frac{d}{dt}\right)^N \left(\sum_{m=0}^{\infty} m D_{m-1} \frac{t^m}{m!}\right) \\ &= \sum_{m=0}^{\infty} (m+N) D_{m+N-1} \frac{t^m}{m!}. \end{aligned} \tag{2.12}$$

Therefore, by (2.10),(2.11) and (2.12), we obtain the following theorem.

Theorem 1. For $N \in \mathbb{N}, m \geq 0$, we have

$$D_{m+N-1} = \frac{(-1)^{N-1}(N-1)!}{m+N} \sum_{n=0}^m (-1)^n N^n S_1(m, n).$$

From (1.3), we note that

$$\begin{aligned} F^n &= (\log(1+t))^n = \left(\frac{\log(1+t)}{t}\right)^n t^n \\ &= \left(\sum_{l=0}^{\infty} D_l^{(n)} \frac{t^l}{l!}\right) t^n = \sum_{l=n}^{\infty} D_{l-n}^{(n)} \frac{t^{l-n}}{(l-n)!} t^n \\ &= \sum_{l=n}^{\infty} D_{l-n}^{(n)} (l)_n \frac{t^l}{l!} = \sum_{l=0}^{\infty} D_l^{(l)} (l+n)_n \frac{t^{l+n}}{(l+n)!}. \end{aligned} \tag{2.13}$$

Thus, by (2.13), we get

$$\begin{aligned} \sum_{n=0}^{\infty} (-1)^n N^n \frac{1}{n!} F^n &= \sum_{n=0}^{\infty} (-1)^n N^n \frac{1}{n!} \sum_{l=0}^{\infty} D_l^{(l)} (l+n)_n \frac{t^{l+n}}{(l+n)!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m (-1)^n N^n \binom{m}{n} D_{m-n}^{(n)}\right) \frac{t^m}{m!}. \end{aligned} \tag{2.14}$$

Therefore, by (2.10),(2.12) (2.14), we obtain the following theorem.

Theorem 2.1. For $N \in \mathbb{N}, m \geq 0$, we have

$$D_{m+N-1} = \frac{(-1)^N(N-1)!}{m+N} \sum_{n=0}^m \binom{m}{n} (-1)^n N^n D_{m-n}^{(n)}.$$

From (2.14), we have

$$\begin{aligned} e^{-Nt} &= \sum_{m=0}^{\infty} \left(\sum_{l=0}^m (-1)^l N^l \binom{m}{l} D_{m-l}^{(l)}\right) \frac{(e^t - 1)^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{l=0}^m (-1)^l N^l \binom{m}{l} D_{m-l}^{(l)}\right) \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \sum_{l=0}^m (-1)^l N^l \binom{m}{l} D_{m-l}^{(l)} S_2(n, m)\right) \frac{t^n}{n!} \end{aligned} \tag{2.15}$$

and

$$e^{-Nt} = \sum_{n=0}^{\infty} (-1)^n N^n \frac{t^n}{n!}. \tag{2.16}$$

From (2.15), and (2.16), we obtain the following theorem.

Theorem 2.2. For $N \in \mathbb{N}, m \geq 0$, we have

$$N^n = \sum_{m=0}^n \sum_{l=0}^m (-1)^{n-l} N^l \binom{m}{l} D_{m-l}^{(l)} S_2(n, m)$$

As is well know, the higher-order Daehee numbers are given by the generating function to be

$$\left(\frac{\log(1+t)}{t}\right)^x = \sum_{n=0}^{\infty} D_n^{(x)} \frac{t^n}{n!}, \quad (x \in \mathbb{R}). \tag{2.17}$$

Thus, by (2.17), we get

$$\begin{aligned} \left(\frac{\log(1+t)}{t}\right)^x &= \left(\frac{\log(1+t)}{t}\right)^r \left(\frac{\log(1+t)}{t}\right)^{x-r} \\ &= \left(\sum_{l=0}^{\infty} D_l^{(r)} \frac{t^l}{l!}\right) \left(\sum_{m=0}^{\infty} D_m^{(x-r)} \frac{t^m}{m!}\right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} D_l^{(r)} D_{n-l}^{(x-r)}\right) \frac{t^n}{n!}. \end{aligned} \tag{2.18}$$

Thus, by (2.18), we obtain the following convolved theory of Daehee numnbers.

Theorem 2.3. For $r \in \mathbb{N}$, we have

$$D_n^{(x)} = \sum_{l=0}^n \binom{n}{l} D_l^{(r)} D_{n-l}^{(x-r)}$$

References

- [1] Y.-K. Cho, T. Kim, T. Mansour, S.-H. Rim, *Higher-order q-Daehee polynomials*, J. Comput. Anal. Appl., **19**(2015) no. 1, 167–173.
- [2] D. V. Dolgy, D. S. Kim, T. kim, T. Mansour, *Barnes-type Daehee with λ -parameter and degenerate Euler mixed-type polynomials*, J. Inequal. Appl. (2015) 2015:154, 13 pp.

- [3] Y. Do, D.Lim, *On (h, q) -Daehee numbers and polynomials*, Adv. Difference Equ. (2015) 2015:107, 9 pp.
- [4] B. S. El-Desouky, A. Mustafa, *New results on higher-order Daehee and Bernoulli numbers and polynomials*, Adv. Difference Equ. (2016) 2016:32.
- [5] D. S. Kim, T. Kim, J. J. Seo, *Higher-order Daehee polynomials of the first kind with umbral calculs*, Adv. Stud. Contemp. Math. (Kyungshang), **24** (2014) no. 1, 5–18.
- [6] T. Kim, D. S. Kim, T. Komatsu, S.-H. Lee, *Higher-order Daehee of the second kind and poly-Cauchy of the second kind mixed-type polynomials*, J. Nonlinear Convex Anal., **16** (2015), no. 10, 1993–2015.
- [7] D. Lim, *Degenerate, partially degenerate and totally degenerate Daehee numbers and polynomials*, Adv. Difference Equ. (2015, 2015:287, 14 pp.
- [8] E.-J. Moon, J.-W. Park, S.-H. Rim, *A note on the generalized q -Daehee numbers of higher order*, Proc. Jangjeon Math. Soc., **17** (2014) no. 4, 557–565.
- [9] H. Ozden, I.N. Cangul, Y. Simsek, *Remarks on q -Bernoulli numbers associated with Daehee numbers*, Adv. Stud. Contemp. Math. (Kyungshang), **18** (2009) no. 1, 41–48.
- [10] J.-W.Park, *On the q -analogue of λ -Daehee polynomials*, J. Comput. Anal. Appl., **19**(2015) no. 6, 966–974 p.